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1 REK —= 1000
2 BER —=& 1000
3 EER —%F 1000
4 BEEIL —5 1000
5 RIS —% 1000
6 BRE(Y —F 1000
7 EFH —& 1000
8 RiEF —=Z 1000
9 Tig— —5 1000
10 SRS —& 1000
11 B —= 1000
12 == —& 1000
13 o] —& 1000
14 BES —& 1000
15 BN —& 1000
16 FINE —F 1000
17 ST —4 1000
18 Mz —=Z 1000
19 I —= 1000

20 B —F 1000
21 P4 — 1000
22 PR —& 1000
23 il —= 1000
24 p(ESY —F 1000
25 XIEE —& 1000
26 ERR —& 1000
27 ALUE —& 1000
28 SRxH —F 1000
29 A —& 1000
30 7 —& 1000
31 EBR —= 1000
32 B —& 1000
33 VDERRR —& 1000
34 DR —F 1000
35 REEIZ —% 1000
36 THIE —& 1000
37 PR —% 1000
38 EE —=Z 1000
39 BRI —& 1000
40 HiXE —F 1000
41 BN —= 1000
42 FER —& 1000
43 ERi —= 1000
44 B —% 1000
45 Rl —= 1000
46 BEW —& 1000
47 TBRTE —& 1000




48 REE —& 1000
49 EF —& 1000
50 i —& 1000
51 WA —& 1000
52 o[ 3%45] —& 1000
53 DRI —& 1000
54 ZiRE —& 1000
55 RIE —& 1000
56 517 —& 1000
57 ] —& 1000
58 IKERE —& 1000
59 K — 1000
60 KRR E —= 1000
61 KIEE —& 1000
62 FKimIE —& 1000
63 SRS — 1000
64 SKAE —& 1000
65 EXITTR, —& 1000
66 AEA —& 1000
67 RBEE —& 1000
68 MEE —& 1000
69 EER —& 1000
70 [EBE —% 1000
71 KEE — 1000
72 BRI - 800
73 LMY = 800
74 FRHEIR —_F 800
75 ZERFIFR —& 800
76 = = 800
77 FEATRR % 800
78 FESTHE = 800
79 R > 800
80 BEYE = 800
81 O T 800
82 D= = 800
83 N12%53 = 800
84 [T —& 800
85 =IRE > 800
86 EE = 800
87 BEE % 800
88 AR & 800
89 = e 800
90 Ei = 800
91 =i%s % 800
92 e - 800
93 =03 "> 800
94 Z{E —_F 800
95 R "> 800
96 =0 = 800
97 EE= % 800
98 =¥ & 800




99 XUMER & 800
100 XU > 800
101 XEZ = 800
102 Xl—i& % 800
103 FAZEF - 800
104 AT = 800
105 BIE —_F 800
106 DEHE —& 800
107 =3 = 800
108 Frat= % 800
109 #=Z—FL & 800
110 HFH i 800
111 BT - 800
112 B0 % 800
113 TR - 800
114 BRI % 800
115 1Ea —& 800
116 WiE & 800
117 RIRTT & 800
118 ZXA)I % 800
119 bBZERA & 800
120 TR i 800
121 IR = 800
122 FREE % 800
123 T - 800
124 FER —— 800
125 ZRin —_F 800
126 IHYE —& 800
127 HRE = 800
128 BiBeR = 800
129 &y & 800
130 s —% 800
131 W = 800
132 Wi % 800
133 Cimnt = 800
134 WALk 4 800
135 LA —& 800
136 RE= - 800
137 KETT - 800
138 [ 3787 % 800
139 3K & 800
140 IKIEE i 800
141 EXFORS = 800
142 = % 800
143 EalEEE] - 800
144 BEE® —% 800
145 PRERN =F 600
146 BiRBrehes =i 600
147 EEIR =% 600
148 Bif= = 600
149 BERUY =% 600




150 EEH == 600
151 EET = 600
152 BEEE == 600
153 =H5% == 600
154 =iaH =% 600
155 XEX == 600
156 BER =F 600
157 BPEE =£ 600
158 faT kiR =% 600
159 Epva= =% 600
160 BIER =% 600
161 E = 600
162 BRE == 600
163 ZFR = 600
164 SRS == 600
165 S5 =% 600
166 =8 == 600
167 Z=REK =i 600
168 ZERR4T == 600
169 ZER == 600
170 ZERREY =% 600
171 Z=ar =% 600
172 =2 =% 600
173 275k = 600
174 =HE =% 600
175 ZSEERR =% 600
176 2 == 600
177 GBI == 600
178 WEIR == 600
179 XUF5Hk == 600
180 XUFR == 600
181 XEF == 600
182 X—i% =% 600
183 XISl == 600
184 i) == 600
185 O == 600
186 =P =F 600
187 ERIE == 600
188 X == 600
189 ZEE == 600
190 FILFR =% 600
191 YLl = 600
192 AER =% 600
193 ]3Iz == 600
194 Tz =% 600
195 FiEH =% 600
196 SRR =F 600
197 (RE =i 600
198 HER == 600
199 IBRERRR == 600
200 ENEM == 600




201 W == 600
202 RIS == 600
203 WIS == 600
204 WiE == 600
205 ] == 600
206 i == 600
207 =rta =% 600
208 KSR =% 600
209 FKERIN =5 600
210 SKFEIR == 600
211 SRR == 600
212 5Kk—FH == 600
213 =S == 600
214 EXEHE =% 600
215 XTI =5 600
216 BiaE =5 600
217 KRR =% 600
218 EE % 400
219 B e 400
220 a5 % 400
221 [(RYEE I 400
222 IRFE e 400
223 28 Ui 400
224 ey & 400
225 CIAVAS) Ui 400
226 Pl & 400
227 IR A= 400
228 ERRURR = 400
229 BFIE e 400
230 TN Ui 400
231 25—05 I 400
232 fAlRg e 400
233 fEEs I 400
234 =5 == 400
235 EER Ui 400
236 F3TT i 400
237 22N =S 400
238 ZERIE U= 400
239 =45 I 400
240 25K Ui 400
241 =BT e 400
242 Z=—R, & 400
243 Z753E I 400
244 AL G 400
245 PIRE & 400
246 XBEF & 400
247 I B2 W= 400
248 XS & 400
249 XFHiT & 400
250 TER Ui 400
251 ERIRR =S 400




252 fREFE e 400
253 B2 e 400
254 e PusE 400
255 BT Ui 400
256 ettt % 400
257 RiEE & 400
258 FERER & 400
259 FINEE = 400
260 T e 400
261 B & 400
262 FiEd e 400
263 FiER & 400
264 ¥ U3 400
265 F—0 == 400
266 Fial % 400
267 FB & 400
268 Fp I 400
269 BER i 400
270 SRF1E PusE 400
271 B & 400
272 B & 400
273 R 25 e 400
274 EEREE PusE 400
275 it == 400
276 i e 400
277 RN & 400
278 M3GE % 400
279 H—tZ & 400
280 BT I 400
281 K37 == 400
282 IKEE I 400
283 KPR e 400
284 F =] IS 400
285 BEZ == 400
286 BT % 400




